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Section-A

. Which of the following wumbers is an irrational number ?

(A) 0.10]
(3% 0.202202220

(C) 0.1011
(D) None of these
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( 2)
2. Som of zeroes of the polynomial 2%° — Bx 4+ 6 is :
(A) -4
(B) 3
(C) 4
(D) None of these
3. The ‘pnir of linear equations 2x+3y-9=0 and 4x+6y~18=0
are ;
(A) Coincident
(B) Parallel
(C) Intersecting

(D) None of these

10%ARM(SZ)IKUT2024—1003-X
A-3-X

https://www.jkboseonline.com



(3)

4. 35" 1erm of the AP. ;2. 48, 15, . s :
(A) -18
(B) -7
O -8i

(D) None of these
5. cot 30° is equal 10 :
(W sec 30°
(B} co 60°
(C) tan 60°
(D) None of these
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6. The distance of a point_from fhe x-axis is called its :

(A) Abscissa

(BY Owdinate

(C) Coordinate

(D) None of lh.en
& HCF. of 7 and 28 is :

(A) 4

(B) 28

@ 7

(D) None of these
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8. The probability that it wip yain lomaitow” i 0.85. What is the

probability that it wij| Bt min lomosrow ?

(A) 0.25

(B) 0.145

(C) 0.05

(D) - None of these
9. Volume of cone is :

(A) arh

® 3k

(C) 3nrth

(D) None of these
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10. Discriminant of the quadratic equatian 352 -2J6x+2=0 8
(A) 24
(B) 6
(C) 0

(D) None of these

11. Prime factorization of 1771 is 7 x 11 x 13. (True/False’

12. The sum of first 51 posilive integers is :
(A) 1316
(B) 1326
(C) 1362

(D) None of these
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13. 05 can be the probabllity of an event:' (True/False)

4. All circles are ... . , (congruent ;inmar)

15. Number of tangents that can be drawn from a point outside the circle

16. Write formula for sum 10 n terms of an A.P.

17. x=0, y=2 is a solution of equation y—-2x=-2, (T:il:f‘Fnlsu)

18. The value of cos A exceeds |. (True/False)
Or

el Y —— I L LI S
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19. Calculate mean of firet 6 prime numbers.

20. Write the formula for class mark of grouped data.
Or

If mean = 15.6, median = 15.73, then Mode = ..ocovvveverneces :

Section-B 2 each

2]. Solve the pair of linear equations 3x~Sy-4=0 and 9x=2y +7 by
substitution method.

22.Findﬂteruotsofth:quadmicequaﬁnn2r2+:-6=0by

faclorimion.l

) 13
23. Given sec 9'1—2'. calculate all other trigonometri¢: mtios.
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24. Find volume of sphere of mdjng 3 cm.

Or

Calculate the curved gurface area of cylinder of radius 2 cm und

height 7 cm.

25. Find the values of y for which the distance between the points

P2, -3) and Q(10, y) is 10 unis.
Or
Check whether (5, -2), (6, 4) and (7, -2) are the vertices of an
isosceles triangle.
26. Find a quadratic polynomial, the sum and product of whose 2£r0cs
are V2 and % respectively.

Tum Over
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Section—C 3 each,

#27. Fiod the coordinatcs of the pomts which divide the linesegment

joining A(-2, 2) snd B(2, 8) into four equal pans.
28. Find the arez of a quadrant of a circle whose circumference is 22 em.

23. “Prove that the 6pposite sides of a quadrilatera] circumscribing a circle

subtead supplementary angles al the centre of the circle,
Or

Two tangents TP and TQ are drawn 10 a cricle with centre O from

an extermal point T. Prove that :

ZPTQ = 2/0PQ.
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30. E is 2 point on the g4, AD produced of 2 parallelogram ABCD and
an

AABE ~ ACFB

The diago '
3l gonals of q Quadrilateral ABCD intersect each other at the

: AO
point O such that —B-—O--.Eg. Show that ABCD-is a trapezium.

32. Prove that 642 i brational. https://www.jkboseonline.com
33. An AP consists of 50 terms of which 3 term is 12 and the last

term is 106. Find the 29% tem.

Or

&ind the sum of the first 15 multiples of 8.
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#. One card is drawn from a well-shuffled deck of 52 cards. Find the

probability of getting :
4) A face card
£i) A spade
Section-D 4 each

35. A train travels a distance of 480 km at a umiform speed. If the speed
had been 8kmvh Jess, then it would have taken 3 hours more to

cover the same distance. Find the speed of the train.

Or

Find the value of K so that the quadratic equation Kx(x-2)+6=0

has equal roots.
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A solid iron
36. Pole Consists of .
% cylinder of height 220 cm and base

diameter 24 cm g
Which ;
5 Sumogyed by another cylinder of height

Or
From 2 solid cylinder whose height is 2.4 cm and diameter 1.4 cm,
a conical cavity of the same height and same diameter is hollowed
out. Find the total surface area of the remaining solid to the nw
cm”.
37. From the top of a 7m high bailding, the angle of clevation of the

top of a cablc tower'is 60° and the angle of depression of its foot

i« 45°. Determinc the height of the towcr.
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( 14)

38. Evaluate :

2 2
5@3]160‘4"4“ 3(;’—!.11 45°
ginZ 30°+cos™ 30°

Or

[Prove the identity

sin0-2sin°8 _ o
2cos> 8- cosd

39. [faﬁnein[mmsiduﬁﬂmdﬁuc DfﬂAABCB!DME

respectively and is parallel to BC. prove that :

A vertical pole of length 6 m casts a shadow 4 m long on the ground
and at the same time a tower casts a shadow 28 m long. Find the

height of the tower.
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0. 11 the median of the g;
d .
¥Mbution given below is 28.5. find the value

of x and v ;
- Class tnterval Frequency
0-10 5
10-20 2
20-30 20
3030 15
40-50 ’
50-60 >
Total 60
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